- Complete numbers 3 and 4 on your notes page.
What is the area of the trapezoid?

3)




,Complete numbers 5 - 8 in your composition book.

5) You can use a trapezoid to approximate the shape of Scott

'County, Virginia. The population is about 23,200. About how
‘many people are there per square mile?

A=1hb,+b,) 23,200 people _
1.20(15 + 38) 530 mi.
L0 haopl
%‘ 20(53) about people

per square mile
530 mi’ ,



Find the area of each trapezo:d

6) h=38in.
b, =3in.
b, =7in.

%h(b1+ b,)
1-8(3+7)
5 8(10)

A— 40 ln.

7) h=15 in. 8) h=124in.
b, =6in. — b =73in

, =9in. b, =2.8in.
A=3h(b,+b,) hib. +b)

. 15(15)
A= 112.5 in.

_1_

2

-‘2- 12.4(7.3 + 2.8)
1-124(101)

A= 62.62 in’



Complete numbers 5 and 6 on your notes page.

5) h=5in. 6) h=78in.
b =8in — by=45in
b, =3 in. =l S.a 0T
A=7h(b,+b,) | A=ln,+b,)
%°5(8 +3) 5°7.8(4.5+3.9)
e 1.

_ - 5(11) 7.8(8.4)
A= 27.5 in’ A= 32. 76 in2




